10

1

12

13

14

15

16

17

nEH 8

GN 613

iNox |
@ ROHS

S ESH
BRI, FHELEA

g

ESid]

- AR EEBEHET, T RIRE

- AKEL HEERHESE, IR IRE

- ANEL BREWMEF, NP RIRe
- AKNZL S REIIET, Tl RIEE
- GEU: BT

- GKE!: HIBLUT, HPRIEF

M

- RAENIE

- FHRIEAL IR

AISI 303 55 NI

BB

EF AAKE

- 2B (BEFERZPA)

- 2@, TR

- RARE

AN / AKN BUAgI2F

- AISI 303 4B

- B, THImE

=8

GN 613RYGAUSGKEL R T AT B T E I AR F RN A,
XD EHEILITREEHEAA FRIGMUERN (858 “RE"), MR
WHIE) 77 TEX T R IEET R EE TR AR K897 S (GBY), GN
817 (B T54) A EBNEH

FIEFLTAIRLT] GN 613. 1. AMATIHBIFIEE QT2 T F B4
BRI,

- DEHAY] (BII 738)

BAES

- ISO-EAnE (&
- TEREE (B
- BRET (BRI

B A21)
BT A26)
A2)

AK B!

GHE

2

0.5xd

PRIZE
ISO 8675

748 elesa+GANTER

fHL4ER]

ELESA 1 GANTER fRARERTE A
S5 ERENE R



i

GN 613 SR 2/2

2
3
i ©
GN 613 (DS E, FEEEHEF) 5
Qe ‘f'é%é%fﬁ; d2 s d4  n= R 13 14 ﬁ;ﬁgﬁyﬁﬁ;ﬁf RE3 BT 52
: @B fuE .
GN 613-5-A 5 M10x1 21 - 45 5 22 6 7 17 GN 613.1-5 17
GN 613-6-A 6 M12x15 25 - 545 6 26 10 9 24 GN 613.1-6 29
GN 613-8-A 8 M16x1.5 31 - 69 8 34 12 11 30 GN 613.1-8 62 7
GN 613-10-A 10 M20x 1.5 31 - 80 10 43 12 19 45 GN 613.1-10 92
GN 613-5-AK 5 M10x1 21 = 45 5 22 6 7 17 GN 613.1-5 20
GN 613-6-AK 6 M12x15 25 - 545 6 26 10 9 24 GN 613.1-6 34
GN 613-8-AK 8 M16x1.5 31 - 69 8 34 12 11 30 GN 613.1-8 82
GN 613-10-AK 10 M20x15 31 - 80 10 43 12 19 45 GN 613.1-10 135 9
GN 613-5-G 5 M10x1 - M5 - 5 22 6 7 17 GN 613.1-5 14
GN 613-6-G 6 M12x15 - M6 - 6 26 10 9 24 GN 613.1-6 20 10
GN 613-8-G 8 M16x1.5 - M8 - 8 34 12 11 30 GN 613.1-8 40
GN 613-10-G 10 M20x15 - M8 - 10 43 12 19 45 GN 613.1-10 86
GN 613-5-GK 5 M10x1 = M5 = 5 22 6 7 17 GN 613.1-5 21 1
GN 613-6-GK 6 M12x15 - M6 - 6 26 10 9 24 GN 613.1-6 27
GN 613-8-GK 8 M16x1.5 - M8 - 8 34 12 11 30 GN 613.1-8 64 2
GN 613-10-GK 10 M20x15 - M8 - 10 43 12 19 45 GN 613.1-10 121
GN 613-NI (FEERZSE, HERHEFFIEW) FEN 13
ne f'ésgé%fﬁ; d2 3 d4  n= 12 I3 14 ﬁifgﬁﬁﬂ;ﬁgﬁ K3 7] 52
: HE B 14
GN 613-5-A-NI 5 M10x1 21 - 45 5 22 6 6 15 GN 613.1-5 15
GN 613-6-A-NI 6 M12x15 25 - 545 6 26 10 8 21 GN 613.1-6 28 5
GN 613-8-A-NI 8 M16x1.5 31 - 69 8 34 12 9 26 GN 613.1-8 64
GN 613-10-A-NI 10 M20x1.5 31 - 80 10 43 12 17 40 GN 613.1-10 106
GN 613-5-AK-NI 5 M10x1 21 = 45 5 22 6 6 15 GN 613.1-5 22 16
GN 613-6-AK-NI 6 M12x15 25 - 545 6 26 10 8 21 GN 613.1-6 34
GN 613-8-AK-NI 8 M16x15 31 - 69 8 34 12 9 26 GN 613.1-8 82 >
GN 613-10-AK-NI 10 M20x15 31 - 80 10 43 12 17 40 GN 613.1-10 140
GN 613-5-G-NI 5 M10x1 - M5 - 5 22 6 6 15 GN 613.1-5 11
GN 613-6-G-NI 6 M12x15 - M6 = 6 26 10 8 21 GN 613.1-6 19 18
GN 613-8-G-NI 8 M16x1.5 - M8 - 8 34 12 9 26 GN 613.1-8 40
GN 613-10-G-NI 10 M20x15 - M8 - 10 43 12 17 40  GNeI3L10 88
GN 613-5-GK-NI 5 M10x1 = M5 = 5 22 6 6 15 GN 613.1-5 21 0
GN 613-6-GK-NI 6 M12x15 - M6 - 6 26 10 8 21 GN 613.1-6 27
GN 613-8-GK-NI 8 M16x1.5 - M8 - 8 34 12 9 26 GN 613.1-8 64 #j
GN 613-10-GK-NI 10 M20x15 - M8 - 10 43 12 17 40 GN 613.1-10 120 M
R
GN 613-NI (FEiNasik, FEETIZF) R
ne o1 'glﬂf; -0.05 d2 ds I = 2 13 rg? = ?&fﬁﬁ zl! ;ggi 83 847 52
s s
GN 613-5-AN-NI 5 M10x1 21 45 5 22 6 15 GN 613.1-5 37
GN 613-6-AN-NI 6 M12x15 25 545 6 26 8 21 GN 613.1-6 61
GN 613-8-AN-NI 8 M16x15 31 69 8 34 9 26 GN 613.1-8 123
GN 613-10-AN-NI 10 M20x15 31 80 10 43 17 40 GN 613.1-10 171
GN 613-5-AKN-NI 5 M10x1 21 45 5 22 6 15 GN 613.1-5 40
GN 613-6-AKN-NI 6 M12x15 25 545 6 26 8 21 GN613.1-6 69
GN 613-8-AKN-NI 8 M16x15 31 69 8 34 9 26 GN 613.1-8 140
GN 613-10-AKN-NI 10 M20x1.5 31 80 10 43 17 40 GN 613.1-10 170

ELESA 70l GANTER {4 RBIF AT, | ele
FHEABTEEHR AL, s-RANTER 749



